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(English Version) 

Instructions 

(i) First 15 minutes are allotted for the candidates to read the question paper.

(ii) All questions are compulsory.

I 

1 

1 

I 

1 

(iii) Questions No. 1 to 8 are Multiple Choice Type Questions. Questions No. 9 to 16 are
Very Short-Answer Type Questions, to be answered in about 20 words each, Questions

No. 17 to 22 are Short-Answer 1'.ype Questions, to be answered in about 50 words each
and Questions No. 23 and 24 are Long-Answer Type Questions, to be answered in about
150 words each. Questions No. 25 and 26 are Map-related Qu,estions.

(iv) Marks allotted to all the questions are mentioned against them.

(v) Illustrate your answers with suitable sketch maps and diagrams.

122· (EK) 4 

Previous Pathshala



<Multiple Choice Type Questions 1 

Write the correct answers of the l'ollowi' t · · 
,, ng ques zons m your ansu·er-book:

I. 

2. 

3. 

4. 

5. 

Who amongst the followin h 1 g sc o ars presented the concept of �eo-Deterru.ini5m?
(a) E.C. Semple

(b) Vidal de La Blacbe-

(c) Griffith Taylor (d) Jean Brunhes

Who amongst the following scholars presented the 
development ? 

(a) Prof. Amartya Sen (b) Ellen C. Semple
(c) Dr. Mahbub-ul-Haq (d) Ratzel

Which one of the following is not a primary activity ? 

(a) Mining (b) Agriculture

(c) Transport (d) Hunting

concept of human 

In which of the following types of economy are the factors of production o,med 

individually ? 

(a) Capitalist (b) Mixed

(c) Socialist (d) None of the above

Which one of the following states has the highest density of population '!

(a) Punjab (b) Cttar Pradesh

(c) West Bengal (d) Kerala

1 

i 

1 

1 

1 

6. At which of the following places was the first atomic power station of India started ? 1

7. 

8. 

(a) Rana Pratap Sagar (b) Narora

(c) Kalpakkam ld) Tarapur 

Through which one of the following states does the Indira Gandhi Canal pass ?

(a) Uttar Pradesh lb) Madhya Pradesh 

(c) Rajasthan (d) Haryana

Haldia port is located in 

(a) Tamil Nadu

(c) West Bengal

(b) Odisha

( d) Maharashtra

322 (EK) 5  

1 

1 

P.T.O. 

Previous Pathshala



(Very Short-Answer Type Queetions) 

9. Explain the scope of Human Geography.

10, What is meant by Human Resource? 

11. How is sex ratio determined '?

12. Describe urban waste management.

2 

2 

2 

2 

13. Write the names of tw01services of quaternary activities.

14. Write the names of two metallic minerals.

15. Mention any two major sen-ports of th() world.

1+1 

l+l 

l+l 

16. Define Human Development. 2 

(Short-Answer Type Questions) 

17, Differentiate between Nomadic Herding and Commercial Livestock Rearing. 2+2 

18. Discuss the factors influencing the distribution and density of population in the

world. https://www.upboardonline.com 2+2 

19. Differentiate between primary and secondary artivitie�. 2+2 

20. Differentiate between place of origin and plac.:�i of <lcslination of migration. 4 

21. Mention the major characteristici:; of Hill Arl'a Development Programmes in India.

1+1+1+1 

22. Briefly mention the importance of water co11s<>rvation in India.

(Long-Answer Type Questions) 

2!J. "Human geography is the study of the changing rclat ionship between the unresting 

4 

man and the unstable earth." Examine this stat.ement. 6 

OR 

Differentiate between rural and urban settlements and discuss their major 

characteristics. 3+3 

24. Describe the production and distribution of iron ore in India.
OR 

Highlight the i m port&l\te�(jf sustainable•development. 
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.(Map-rehlted Questions)

Show thl:! following by suitable symbols. in the given
(on Page 9) and write their names also:

outline map of India 

( i) 'l'he capital city of thifl State.

(ii) 

(iii) 

An important coal producing area of Jharkhand State.

One important atomic onerb')' centre of India.

(iv) 'rhc State with the largest population in India.

(v) The State with the lowest sex ratio in India.

Only for visually-impaired examinees in plalJe of Question No. 25 : 

I l 
-+-

2 2 

1 I 
-+-

2 2 

1 I 
-+-

2 2 

I I 
-+-

2 2 

1 1 
-+-

2 2 

Instructions :Write the answers of the following questions in your answer-book. 

Do not use the map. 

(i) Write the name of the capital city of this State. 1 

(ii) Write the name of an important coal producing area of Jharkhand State. 1 

(iii) Write the name of one important atomic energy centre of India. 1 

(iv) Write the name of the State with the largest population in India. 1 

(v) Write the name of the State with the lowest sex ratio in India. 1 

,. 

26. Show the following by suitable symbols in the given outline map of the World

(on Page 11) and write their names also:

(i) The continent with the lowest population.

(ii) The capital city of Japan.

(iii) The country with the highest Human Dev�lopment Index.

(iv) The shipping canal of Central America.

(v) A sea-port on the Mediterranean Sea.
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Only -for r::isually-impaire,d examinees i11 pl,ice of Questio11 No. 26:

Instructions :Writt' the anslct?1� of the folloiring q11et1ti()n� in yo11r rrnswer-hooh.
Do not USt

' the. mop. 

1j3 \-'f rite the name of the <.'Ontinent with thl' lowe�t populnt.ion. 

(ii) \"frite the name of the l'apital city of Japan.

!iii'1 Write the name of the country with the highest Human Development Index.

(iv) V.
'."

rite the name of the shippping cannl of Central America. 

{v) Vlrite the name of a sea-port on the Mediterranean Sea. 

1 

I 

1 

1 
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